
 

 

 

 

 

rkd;ghLfs; 
 

vspa rkd;ghLfs;  
 

fzpj $w;Wfs; ,uz;L> rkd; (=) vDk; FwpaPl;lhy; njhlu;GgLk; NghJ mJ 
rkd;ghL vdg;gLk;. xU rkd;ghL mjd; vspa tbtj;Jf;F RUf;fg;gLk; NghJ 
njupahf; fzpaj;Jf;F xd;Wf; $ba mLf;F ,Uf;fhJ @ mg;NghJ mJ vspa 
rkd;ghL my;yJ Vfgupkhd rkd;ghL vdg;gLk;.  

vspa rkd;ghLfisj; jPu;j;jy;.  

cjhuzk; :- I.  x + 5 = 12  

x + 5 – 5 = 12 - 5 (,Ugf;fq;fspYk; 5 If; fopf;f) 

   x       = 7   
  

cjhuzk; :-  II.  2x - 3 = 15 

2x – 3 + 3 = 15 + 3  (,Ugf;fq;fspYk; 3 If; $l;Lf) 

2x        = 18  

  

 
             = 

  

 
   (,Ugf;fq;fspYk; 2 My; tFf;Ff) 

 x        = 9 
 

 

  III. 3(x+3)       =  15  

       3x+3       =  15 

       3x+3-3      = 15 - 3 

       3x              =  12 

  

 
             = 

      

    
      

x   =  4     

 

ghlk; - fzpjk;     

juk; - 10 
Mrpupau; :- Mrs. K. tp[ayypjh  
Nf.nj`p. nj`pNahtpw;w> jkpo; kfh tpj;jpahyak;  

[Pd; thuk; :- 01 

rgufKt khfhz fy;tpj; jpizf;fsk; - thu ghlrhiy  

 



gapw;rp  

I. a + 3 = 7  

II. 9y – 20 = 34 

III. 6b + 5 + 3b = 50 

IV.  
     

 
       = 2         


